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Note : Answer questions from each Section as per 

the instructions.  

Section—A 

Note : Answer any two questions from this  
Section. 2×20=40 

1. (a) Why is the supply curve of a firm in perfect 
competition the rising portion of the MC 
curve which lies above the AVC curve ? 
Describe with the help of a diagram. 10 
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(b) Why does an oligopolist firm face kinked 

demand curve ? Show the price 
determination in kinked model of  
oligopoly. 10 

2. (a) Describe the modern theory of rent. 

Explain how elasticity of supply of a factor 
affects rent. Use diagram. 10 

(b) What is the marginal productivity theory 

of factors of production ? How does it 
explain the process of factors price 
determination ? 10 

3. (a) Define public goods. Explain the rationale 
for government intervention in case of 
public goods. 10 

(b) “A Pareto efficient allocation of resources 

occurs only in a perfectly competitive 

economy, where MRTSXY = MRSXY X

Y

P
P

 = .” 

Explain with the help of an appropriate 
diagram. 10 
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4. (a) Bring out the major areas in which WTO 
has facilitated agreements among its 
members. 10 

(b) Discuss the impacts of WTO on Indian 
Economy. 10 

Section—B 

Note : Answer any four questions from this  
Section. 4×12=48 

5. What is price discrimination ? Explain price 
and output determination using third-degree 
price discrimination. 12 

6. How does a tax imposed on rent affect supply of 
factor and rent rate ? Explain. 12 

7. How does government intervention overcome 
the problem of negative production 
externalities ? 12 

8. Explain the meaning of selling cost. How does 
selling cost affect price and output in 
monopolistic competition ? 12 

9. Discuss the price criterion of relative factor 
abundance.  12 
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10. The following information is given : 12 
2C = 80 + Q  

P = 40 – Q   

Find the profit maximising levels of output and 
price. 

Section—C 

11. Write short notes on any three from this 
Section :   3×4=12 

 (i) Dead-weight loss in monopoly 
(ii) Supernormal profit 

(iii) Characteristics of monopoly 

(iv) Quasi-rent 

(v) Value of Marginal Physical Product (MPP) 
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      BECC-132 

ch- ,- (lkekU;) (ch- ,- th-) 

l=kkar ijh{kk 

twu] 2023 

ch-bZ-lh-lh--132 % O;f"V vFkZ'kkL=k ds fl¼kUrµII 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % izR;sd Hkkx ls iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A 

Hkkx&d 

uksV % bl Hkkx ls fdUgha n k s iz'uksa ds mÙkj  

nhft,A 2×20=40 

1- (d) ,d iw.kZ izfr;ksfxrk esa iQeZ dk iw£r oØ mlds 

lhekUr ykxr oØ dk c<+rk gqvk Hkkx] tks 

vkSlr ifjorhZ ykxr (AVC) oØ ds Åij gksrk 

gS] gh D;ksa gksrk gS \ ,d vkjs[k dh lgk;rk ls 

o.kZu dhft,A 10 
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([k) ,d vYikf/dkjh iQeZ fodfEir ek¡x oØ dk 

lkeuk D;ksa djrh gS \ vYikf/dkj ds fodfEir 

ekWMy esa dher fu/kZj.k n'kkZb,A 10 

2- (d) ̂yxku* (fdjk;k) ds vk/qfud fl¼kUr dk o.kZu 

dhft,A le>kb, fd fdl izdkj ,d dkjd dh 

iw£r yksp yxku dks izHkkfor djrh gSA vkjs[k dk 

mi;ksx dhft,A 10 

([k) mRiknu ds dkjdksa (factors of production) dk 

lhekUr mRikndrk fl¼kUr D;k gS \ ;g dkjdksa 

dh dher fu/kZj.k izfØ;k dks fdl izdkj 

le>krk gS \ 10 

3- (d) lkoZtfud oLrqvksa dks ifjHkkf"kr dhft,A 

lkoZtfud oLrqvksa dh fLFkfr esa ljdkj ds 

gLr{ksi dk vkSfpR; le>kb,A 10 

([k) ¶,d iw.kZ izfr;ksfxrk vFkZO;oLFkk esa lalk/uksa dk 

ijsVks n{k vkcaVu dsoy ogk¡ gksxk] tgk¡ % 

MRTSXY = MRSXY X

Y

P
P

 =  

 gksxkA¸ mi;qDr fp=k dh lgk;rk ls le>kb,A 10 
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4- (d) mu izeq[k {ks=kksa dk mYys[k dhft, ftuesa fo'o 

O;kikj laxBu us vius lnL;ksa ds chp le>kSrksa 

dks lqxe cuk;k gSA 10 

([k) Hkkjrh; vFkZO;oLFkk ij fo'o O;kikj laxBu ds 

izHkko dh ppkZ dhft,A 10 

Hkkx&[k 

uksV % bl Hkkx ls fdUgha pkj iz'uksa ds mÙkj  

nhft,A 4×12=48 

5- dher foHksnhdj.k D;k gS \ rhljh dksfV dher 

foHksnhdj.k dk iz;ksx djds] dher vkSj mRiknu 

fu/kZj.k dks le>kb,A 12 

6- ^yxku* ij yxk;k x;k dj] dkjd dh iw£r vkSj 

yxku dh nj dks dSls izHkkfor djrk gS \ le>kb,A 

12 

7- udkjkRed mRiknu ckárkvksa dh leL;k dks ljdkjh 

gLr{ksi fdl izdkj nwj djrk gS \ 12 

8- fcØh ykxr ds vFkZ dks Li"V dhft,A 

,dkf/dkjkRed izfr;ksfxrk esa fcØh ykxr] dher vkSj 

mRiknu dks dSls izHkkfor djrh gS \ 12 
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9- lkis{k dkjd izpqjrk ds dher ekun.M ij ppkZ 

dhft,A   12 

10- fuEufyf[kr lwpuk nh gqbZ gS % 12 
2C = 80 + Q  

P = 40 – Q   

ykHk vf/drehdj.k mRiknu Lrj vkSj dher Kkr 

dhft,A 

Hkkx&x 

11- bl Hkkx esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡ 

fyf[k, %   3×4=12 

(i) ,dkf/dkj esa dqy Hkkj gkfu 

(ii) vlkekU; ykHk 

(iii) ,dkf/dkj dh fo'ks"krk,¡ 

(iv) v/Z&fdjk;k 

(v) lhekUr HkkSfrd mRikn (MPP) dk ewY; 
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